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QUESTION 1

What is the purpose of the discard action of a firewall filter?

A. The system drops the packet and logs the entry.

B. The system drops the packet and sends an ICMP message.
C. The system silently drops the packet.

D. The system evaluates the next term in the policy.

Correct Answer: C

QUESTION 2

Which two statements about the configure exclusive command are correct? (Choose two.)

A. The command excludes other users from editing the configuration.

B. The command retains all uncommitted changes when exiting exclusive mode

C. The command causes the loss of all uncommitted changes when exiting exclusive mode
D. The command allows multiple users to edit private copies of the configuration concurrently.

Correct Answer: CD

QUESTION 3

Click the Exhibit button.
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You have applied the policy shown in the exhibit as an import policy to your BGP group. In this scenario, what will
happen when the router receives the 192.168.30.48/32 route?

A. It will be sent to the default BGP policy
B. It wall match term-1 and be accepted.
C. It wall match term-2 and be accepted
D. It will match term-2 and be rejected.

Correct Answer: D

QUESTION 4
Which statement is true about using custom login class permissions?
A. If you allow and deny the same command, the command is allowed

B. If you allow and deny the same command, the command is denied.
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C. If you allow and deny the same command, Junos OS will randomly choose the action

D. If you allow and deny the same command, the Junos OS will fail the commit check.

Correct Answer: A

Understanding the Allow and Deny Statement Precedence and Matching By default, the allow-commands and allow-
configuration regular expressions take precedence over deny-commands and deny- configuration expresssions. Thus, if

you

configure the same command for both the allow-commands and deny-commands statements, then the allow operation
takes precedence over the deny operation.

Ref: User Access Privileges | Junos OS | Juniper Networks

"User Access Privileges

Understanding the Allow and Deny Statement Precedence and Matching

By default, the allow-commands and allow-configuration regular expressions take precedence over deny- commands
and deny-configuration expresssions. Thus, if you configure the same command for both the allow-commands and
deny-

commands statements, then the allow operation takes precedence over the deny operation.

QUESTION 5

What are two characteristics of UDP? (Choose two.)
A. UDP is connection-oriented.

B. UDP packets are sent best-effort.

C. UDP is more reliable than TCP.

D. UDP operates at the transport layer.

Correct Answer: BD
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